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SECTION A — (10 × 2 = 20 marks)

Answer ALL the questions.

1. What is management accounting?

2. Indicate the common size of the following items in a common size income statement. The following further details are available.

	Details
	2006
`
	2007
`

	Sales
	10,00,000
	16,00,000

	Cost of Sales `
	8,00,000
	12,00,000

	 Gross Profit 
	2,00,000
	4,00,000


3. Find out the stock turn over ratio. opening stock `29,000, closing stock `31,000 Purchases `2,42,000.

4. Explain the significance of liquid ratio.

5. State the effects on working capital caused by the following:

Increase in Cash `1,700

Increase in Stock `1,600

Decrease in Debtors `500

Decrease in Creditors `2,500

6. Bring out the meaning of working capital.

7. What do you mean by key factor? Explain with examples.

8. Calculate the amount of contribution. Profit `3,00,000 and Fixed Cost `4,00,000. 

9. What is variance analysis?

10. Calculate material price variance from the following: Standard 2740 units at `15 each and Actual 3000 units at `17each.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

11. Explain the functions of management accounting.

12. What is ratio analysis? Discuss its objects.

13. Calculate average collection period from the following informations:
	Details
	     `

	Total sales
	2,00,000

	Cash sales
	40,000

	 Sales returns
	14,000

	Debtors (31-12-06)
	18,000

	Creditors (31-12-06)
	20,000

	Provision for bad debts (31-12-06)
	2,000

	Bills Receivable (31-12-06)
	4,000


14. Calculate funds from  operations:
    `


Net profit for the year 2006-2007



95,000



Goodwill written off





 21,000

Depreciation charged




          42,000

Profit on sale of long term investments

 Included in the P&L a/c




13,000










15. You are given the following data for the year 2007 of a concern.

`





Variable Cost

6,00,000






Fixed Cost


3,00,000






Net profit


1,00,000






Sales



10,00,000

Find a)P/V Ratio b) BEP c) Profit when sales is `12,00,000 d) Sales in Rupees to earn a profit of `2,00,000.
16. Data relating to a job are as under:

Standard rate of wages per hours `10

Standard hours-300

Actual rate of wages per hours `12

Actual hours-200

Calculate a) Labour cost variance b) Labour rate variance c) Labour efficiency variance

17. From the following particulars calculate funds from operations.

	Particulars
	`

	Salaries
	40,000

	Depreciation
	20,000

	Interest on investments 
	10,000

	Profit on sale of fixed assets
	5,000

	Provision for taxation
	30,000

	Interim dividend paid
	20,000

	Proposed dividend
	30,000

	Administrative and selling expenses
	25,000

	Goodwill written off
	10,000

	Preliminary expenses written off
	5,000

	Loss on sale of old machinery
	5,000

	Opening balance of Profit and Loss Account on 1-1-2001
	70,000

	Closing balance of Profit and Loss Account on 31-12-2001
	1,20,000


18. Merry limited has supplied you the following information in respect of one of its products:

Total fixed cost `18,000

Total variable cost `30,000

Total sales `60,000

Units sold 20,000

Find out a) Contribution per unit b) BEP in Rupees and Units c) Margin of safety

SECTION C — (2 × 15 = 30 marks)

Q.No. 19 is compulsory and any ONE from  the rest of TWO questions
PART – A
19. Case study: ( Compulsory)

 


Ratio analysis is a tool of management for measuring efficiency and guiding business policies. 

a) Do you agree? Explain.
 b) Bring out the significance of efficiency of ratios.
 c) In what ways they guide the business policies? Illustrate.
PART – B – (1 OUT OF 2 QUESTIONS)

20. From the following Balance Sheets of ‘A’ Ltd., as on 31st December 2005 and 2006 you required to prepare:

(a) Schedule of changes in working capital.

(b) Funds Flow Statement

                                Balance Sheets

	Liabilities
	2005

`
	2006

`
	Assets
	2005

`
	2006

`

	Share Capital
	1,00,000
	1,00,000
	Goodwill
	12,000
	12,000

	General Reserve
	14,000
	18,000
	Building
	40,000
	36,000

	P&L A/c
	16,000
	13,000
	Plant
	37,000
	36,000

	Sundry creditors
	8,000
	5,400
	Investments
	10,000
	11,000

	Bills payable
	1,200
	800
	Stock
	30,000
	23,400

	Provision for taxation
	16,000
	18,000
	Bills Receivable
	2,000
	3,200

	Provision for doubtful debts
	400
	600
	Debtors 
	18,000
	19,000

	
	
	
	Cash at Bank
	6,600
	15,200

	
	1,55,600
	1,55,800
	
	1,55,600
	1,55,800


Additional informations:

(a) Depreciation: Plant-`4,000 and Building – `4,000

(b) Provision for taxation of `19,000 was made during the year 2006.

(c) Interim dividend of `8,000 was paid during the year 2006.

21. The fixed cost per month in a factory is `50, 000. The contribution per unit is`50 for Product A and`25 for B. Which of the following product mixes is most yielding?

a) 800 A and 1000B

b) 1500 A only

c)  3000 B only

d) 1200 A and 400 B
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